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Please describe only one outcome and one reference group per form
This is data for:
© Total sample

© Subgroup (specify):
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Describe the characteristics of the index test(s)

Index|Assay Manufacturer Assay used Cut-off value for normal Timing 98th upper reference
test
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. How was acute coronary syndrome defined?

[T 1cD-9 codes
] Adjudicated (e.q. panel of physicians adjudicated cases)
[T] other method (specify):

=]

. How was it adjudicated?

© single adjudicator
© Panel adjudicator (specify number);

© Not specified
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3.Was a cardiologist involved in the adjudication?
© ves
© No

© Mot reported
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. What definition was used to adjudicate?
© Global Consensus an M|

© ACCIAHA

O Other (specified):

© Notreported
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Reference standard (+) Reference standard (-) Total
Index test (+ elevated troponiny| True positives (4) False positives (B) A+B
Index test {- normal troponin) |False negative {(C) True negative (D) C+D
Total A+C B+D M

PLEASE NOTE: FORMULAS ARE PROVIDED FOR YOUR REFERENCE. PLEASE DO NOT MANUALLY CALCULATE ANY VALUES
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